Time Re	ecords for Center for Accessible Techno	ology					
	A.10-02-005						
	2012 Time: Melissa W. Kasnitz						
Date	Activity	Time	Rate	Value	Issue	Total:	
	r/r Proposed decision; notes re: same	0.8	\$435.00	\$348.00	GP	Hours	37.7
01/09/12	Email exchange w/ consumers re: call to coordinate comments on PD	0.2	\$435.00	\$87.00	Consumer	Value	\$ 16,401.00
01/10/12	email exchange w/ consumers re: coordinating comments on PD	0.2	\$435.00	\$87.00	Consumer		
01/12/12	email exchange w/ consumers setting call	0.1	\$435.00	\$43.50	GP		
01/16/12	Outline issues to address in comments on PD	1.1	\$435.00	\$478.50	Consumer		
01/16/12	Draft outline of common consumer issues & separate disability issues for comments; email outline to consumers	1.6	\$435.00	\$696.00	Disability		
01/17/12	Consumer call re: comments on PD & coordination re: same	1.5	\$435.00	\$652.50	Consumer		
01/20/12	review Sempra presentation in preparation for quarterly call	0.2	\$435.00	\$87.00	Sempra		
01/20/12	Attend Sempra status call re: settlement	0.5	\$435.00	\$217.50	Sempra		
01/20/12	Consumer email exchange re: distribution of substantive information to SDG&E customers over the internet	0.5	\$435.00	\$217.50	Sempra		
01/22/12	Review draft NCLC comment section, email to D. Wong re: questions on benchmarks & remote disconnect	0.4	\$435.00	\$174.00	Consumer		
01/23/12	r/r consumer emails re: benchmarks & remote disconnect	0.2	\$435.00	\$87.00	Consumer		
01/24/12	t/c - NCLC (D.Wong) re: remote disconnection, joint comments & possible alternatives	0.2	\$435.00	\$87.00	Consumer		

01/24/12	r/r consumer drafts for comments & email exchange re: same	0.4	\$435.00	\$174.00	Consumer	
01/25/12	Brief review of monthly disconnection report	0.2	\$435.00	\$87.00	Sempra	
01/25/12	r/r update re: numbers of Braille bill customers	0.1	\$435.00	\$43.50	Sempra	
01/26/12	review & edit comment section by H. Goodson; email exchange re: same	0.4	\$435.00	\$174.00	Consumer	
01/26/12	Legal research re: disconnection standards; email exchange w/ H. Goodson (TURN) re: same	0.3	\$435.00	\$130.50	Consumer	
01/26/12	Review separate sections of draft consumer comments; draft unified comments from same; email exchange w/ consumers re: same	1.9	\$435.00	\$826.50	Consumer	
01/27/12	Review & edit joint comments on PD; email exchange w/ H. Goodson re: same & remote disconnection argument	2.8	\$435.00	\$1,218.00	Consumer	
01/28/12	Review & edit joint consumer comments on PD; research citations; email exchange w/ consumers re: same	1.5	\$435.00	\$652.50	Consumer	
01/29/12	email exchange w/ consumers re: finalizing joint comments	0.3	\$435.00	\$130.50	Consumer	
01/30/12	Draft disability footnotes; email to H. Goodson re: same	0.5	\$435.00	\$217.50	Disability	
01/30/12	Email exchange w/ H. Goodson re: finalizing comments	0.3	\$435.00	\$130.50	Consumer	
01/30/12	Email exchange w/ consumers setting call re: reply comments (multiple); t/c- D. Wong (NCLC) to confirm	0.4	\$435.00	\$174.00	Consumer	
01/30/12	r/r Party Comments; notes re: same for reply	0.7	\$435.00	\$304.50	GP	
01/30/12	Review IOU comments; notes re: same for reply	1.0	\$435.00	\$435.00	GP	

· · · · · · · · · · · · · · · · · · ·						
01/31/12	Consumer call re: preparation of reply comments	1.0	\$435.00	\$435.00	Consumer	
01/31/12	Draft reply comments	2.6	\$435.00	\$1,131.00	Disability	
01/31/12	Review & edit reply comments; email exchange w/ consumers re: same	0.5	\$435.00	\$217.50	Disability	
02/01/12	t/c - M. Ghattas (Edison) re: timeline for notice proposal; review Edison documents re: same	0.3	\$435.00	\$130.50	Disability	
02/01/12	Review draft comments from Greenlining	0.3	\$435.00	\$130.50	Consumer	
02/02/12	Finalize reply comments	0.3	\$435.00	\$130.50	Disability	
02/03/12	Review & edit NCLC comments; email to D. Wong re: med baseline	0.3	\$435.00	\$130.50	Consumer	
02/03/12	Consumer email exchange re: reply comments	0.3	\$435.00	\$130.50	Consumer	
02/05/12	Review & edit draft TURN reply comments; email exchange w/ consumers re: same	0.4	\$435.00	\$174.00	Consumer	
02/06/12	Email exchange re: final notes & coordination of separate reply comments	0.3	\$435.00	\$130.50	Consumer	
02/06/12	Final review of reply comments	0.2	\$435.00	\$87.00	Disability	
02/06/12	Brief review of party reply comments	0.3	\$435.00	\$130.50	GP	
02/07/12	review party reply comments	0.8	\$435.00	\$348.00	GP	
02/13/12	r/r revisions to PD; email exchange w/ consumers re: same	0.3	\$435.00	\$130.50	GP	
02/15/12	email exchange w/ consumers re: hold on PD	0.2	\$435.00	\$87.00	GP	
02/16/12	Email exchange w/ consumers re: Ex Parte strategy	0.2	\$435.00	\$87.00	Consumer	
02/17/12	email exchange w/ consumers re: setting ex parte meeting w/ Comm. Simon's office	0.2	\$435.00	\$87.00	Consumer	
02/21/12	email exchange w/ consumers re: ex parte meetings & schedules	0.2	\$435.00	\$87.00	GP	

02/22/12	multiple emails scheduling ex parte meetings	0.2	\$435.00	\$87.00	GP	
02/23/12	Email exchange w/consumers re: ex parte meetings & schedules, preparation for same; t/c C. Watts-Zagha (DRA) re: same	0.3	\$435.00	\$130.50	Consumer	
02/27/12	Email exchange w/consumers scheduling meetings; consumer call re: strategy for same & coordination	0.8	\$435.00	\$348.00	Consumer	
02/27/12	Brief review of monthly disconnection report	0.2	\$435.00	\$87.00	Sempra	
02/28/12	r/r draft summary of PD for use at ex parte meetings; notes re: same & email exchange w/ consumers re: same and overall ex parte strategy	0.5	\$435.00	\$217.50	Consumer	
02/29/12	Review PD and comments in preparation for ex parte meetings	1.0	\$435.00	\$435.00	Consumer	
02/29/12	Meeting w/ consumers in advance of ex parte; confer re: issues & strategy	0.4	\$435.00	\$174.00	Consumer	
02/29/12	Ex parte meeting w/ A. Lee & C. Brown (Pres. Peevey's office) re: support for pending PD (w/ all consumer groups)	1.0	\$435.00	\$435.00	Consumer	
02/29/12	Strategy session w/ consumers following ex parte meeting re: prep for additional ex partes	0.4	\$435.00	\$174.00	Consumer	
03/01/12	Ex parte meeting w/ S. Kamins (Comm. Ferron's office) re: support for pending PD (w/ all consumers)	0.7	\$435.00	\$304.50	Consumer	
03/01/12	email exchange w/ consumers (multiple) re: scheduling additional ex parte meetings	0.2	\$435.00	\$87.00	GP	
03/02/12	r/r email from C. Watts-Zagha re: SCE Advice Letter 2701-E modifying disconnection notices	0.2	\$435.00	\$87.00	Consumer	

03/07/12	Consumer email exchange re: ex parte meetings	0.1	\$450.00	\$45.00	Consumer	
03/07/12	Email exchange re: schedule for Sempra settlement call	0.1	\$435.00	\$43.50	Sempra	
03/08/12	Email exchange w/ G. Healy re: participation in Sempra Settlement call	0.1	\$435.00	\$43.50	Sempra	
03/08/12	Email to consumers re: potential meeting w/ Energy Division re: PD	0.1	\$435.00	\$43.50	Consumer	
03/09/12	Email exchange w/ consumers re: setting ex parte meeting w/ Energy Division & cancellation of ex parte w/ Comm. Simon's office	0.2	\$435.00	\$87.00	Consumer	
03/12/12	Consumer email exchange re: rescheduling ex parte meeting on PD w/ Comm. Simon's office	0.2	\$435.00	\$87.00	Consumer	
03/15/12	Prepare & attend ex parte meeting w/ S. St. Marie (Comm. Sandoval's office) re: support for PD; follow up & email exchange w/ consumers re: same & efforts to reschedule meeting w/ Comm. Simon's office	0.8	\$435.00	\$348.00	Consumer	
03/15/12	r/r update from G. Healy re: Tenant Notification Letters & upcoming advice letter filing	0.2	\$435.00	\$87.00	Sempra	
03/16/12	r/r SoCal Gas Advice Letter filing re: tenant notification letters	0.2	\$435.00	\$87.00	Sempra	
03/19/12	Email exchange w/ consumers re: efforts to set meeting w/ Comm. Simon's office	0.1	\$435.00	\$43.50	Consumer	
03/20/12	Email exchange w/ Comm. Simon's office & consumers re: status of PD and request for meeting	0.2	\$435.00	\$87.00	Consumer	
03/21/12	r/r revisions to PD; email exchange w/ consumers re: same	0.4	\$435.00	\$174.00	GP	

03/21/12	Review hold list for 3/22 meeting; email exchange w/ consumers re: no hold on PD	0.2	\$435.00	\$87.00	GP		
03/22/12	Review agenda re: adoption of final decision	0.2	\$435.00	\$87.00	GP		
03/26/12	Brief review of monthly disconnection report	0.2	\$435.00	\$87.00	Sempra		
04/19/12	Email to consumers re: 4/23 Sempra settlement call	0.1	\$435.00	\$43.50	Sempra		
04/22/12	Emails re: unavailable for quarterly call & need for followup	0.1	\$435.00	\$43.50	Sempra		
04/25/12	Review IOU reports re: monthly disconnections	0.4	\$435.00	\$174.00	GP		
05/08/12	Email exchange w/ Sempra & consumers re: notice of remote disconnections; email exchange w/ S. Chen (GL) re: same & follow up	0.3	\$435.00	\$130.50	Sempra		
05/09/12	Review Advice Letter re: notice of remote disconnections; email exchange w/ S. Chen re: potential protest	0.3	\$435.00	\$130.50	Sempra		
05/09/12	t/c-S. Chen (GL) re: protesting Sempra Advice Letter on Remote Disconnections for failure to include in-language & lg. print information as required by settlement	0.3	\$435.00	\$130.50	Sempra		